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Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(

(b)

()

(d) ironically,
(1) (9 (d) (a) (b
(2)  (d) (c) (b)
3) (b)(9)(

(4) (a) (b) () d
Options:-

.1, Option ID :- 1,
. 2,0ption ID :- 2,
. 3, Option ID :- 3,
. 4, Option ID :- 4,

a) has been increasing steadily
the number of jobless people
inspite of decline in poverty,

Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the following senterice from Active Voice to Passive Voice.

They will start the fireworks after midnight.

(1) The fireworks are going to be started after midnight by them

2
(3
(4

Options:-
.1, Option ID :- 5,

« 2, Option ID :- 6,
. 3,0ptionID :- 7,
. 4, Option ID :- 8,

) The fireworks will be started by them after midnight.
) After midnight the fireworks will be started.
) Starting of the fireworks will be done after midnight by them.

Answer Given:- 2, Option ID : -6

Question ID:- 3



https://t.me/Teachingexam

Fill in the blank with the correct preposition :

Instead talking endlessly, the speaker should come to the point now.
(1) off

(2) for

(3) with

(4) of

Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

Identify the correct tense form of the underlined part in the given sentence.

learnt Tamil when I was posted in Chennai.

i
(1) Simple Past

(2) Simple Present
( Past Perfect

(

Past Perfect Continuous

3
4

— N

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
The teacher said to the erring students, “Why don’t you do your homework at home ?’
(1) The teacher asked the erring students that why they did not do their homework at home.

2 The teacher asked the ern’ng students why did they not do their homework at home.

4

(2)
(3) The teacher asked the erring students why they did not do their homework at home.
(4) The teacher told the students to do their homework at home.

Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6




Identify the part which contains an error.
He is /suffering from /pneumonia /for a week now.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Choose the word nearest in meaning to the given word.

PHILISTINE
(I) gentle
(2) uncultivated
(3) stupid
(4) rustic
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Choose the word opposite in meaning'to the given word.
ERUDITE

1
2

(1) boorish
(2) superflous
(3) ignorant
(4)

4 savage

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9




Identify the Part of Speech of the underlined word.

The candidate studied hard, but could not clear the examination.

(1) Preposition

(2) Conjunction

(3) Adverb

(4) Interjection
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause in the underlined portion of the given sentence.

The jury gave the verdict that the convict would go to jail

(1) Principal Clause
(2) Adverb Clause
(3) Adjective Clause
(4)

4 Noun Clause

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_TGTHINDI
Question ID:- 11

Featefaa Tensr &t ugeRt S0 U 3mufid 9yH T WEl ST ST

HHER-T3 ST 1 STLH AR = S0 S | STEE T S a1 8 SasE § Skl Ta
et 1 e o fafuer fommoei o mem | fordt owg o wlie ¥ Uel SHe faverr R 81 SE
SEEE ST | St T S 3 # aed & fon s ales freeer €1 S
iy H fomre & 551 weE ¥ 1 famE & wem | g feu T 3 agd swEnt 3, @ sTevas e |

freafafad § & o i Suge anl g fred foedt €2
(1) HAMER-9H

2) e
(3) <efifasH
(4) R

Options:-




.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

Question ID:- 12

Ffafaa TenyT et Ugeht 39 O ST U9 ohl el S SIfel :

HHER-T3 ST 1 STLH AR = S0 S | STEE T S a1 8 SasE § Skl Ta
et 1 e o fafuer fommoei o memm | fordt owg o wlie ¥ Uel SHe faverr R 81 SE
SHEEE ST | At w T R S 3 # aed & fon s ales freeer €1 e
Wy H fosr & 51 9eE § | famn & W | yaifa feu T s agd swEnt 3, sTevas 9|

SFEET 39 SR o977 & fau o7 al% 9 § FHifs o
(1) SR L& stfufm =i = =8 3|

(2)  Surera ot e 1 ohd |

(3) SUHERN Tl =gd o L T

(4) o Afufadl = fHa #a £
Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

- 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13

Frefafaa ey &t Ut 39 W A U9 T Wel ST e ¢

HHER-T3 SYHIET I SHGH AR T S0 S | ST T S e 8 SusE § Skl Ta
et 1 e o fafuer fommoi o e | fordt owg o wilie ¥ el SHe faveir ol 81 S
SHEEE ST | At w T R S 3 # aed & fon s ales freeer €1 e
Wy H fosr & 51 9eE § | famn & W | yaifa feu T s agd swEnt 3, sTevas 9|

qAaH TG H fehgeht g1 HEed § 2

(1) H9ER

2) famm=

(3) IR I UE

(4) SusreRT Hel srfufm
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50




Question ID:- 14

freafefaa Tensr ot Uget 39 Ot M| Uy T WEl SO S

AR5 ST %1 ITFRI T 1 GE1 < § | ST HH 1 GE 9 SYHIERT H S del
Bt 21 3a9 = fafie famms & Aeam | ot 9% &1 wdliey ¥ Ugel 3Heh faver sar 81 3
SrEErE SudEar e sty it fear 3 9 st Seare W S & ot o1 adie e €1 adae
qug ¥ fomuA o 951 mEcd | [F99T & memm § g fRu e 3ce 9gd SuAn @, 98 STevEeh el |

frefafad ® -9 Tee-gm s ¥ 2
(1) S9FH - ATTIH

(2) TSIFEs — |si

(3) SHERM — STEAR

(4) SAEE - SEETIR
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

- 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

Frafafaa =T ot ggent S0 X ST W aht Jel STT el :

HHER-T3 SYHIERT 1 ST A Ao od © | SUET St ot G § SusE § STl et
et §1 e o fafu=r fosmoei & Aol fordt ong o wlie @ et SHe faver R 81 E
SEEE IUER W Afufm i EOT FR ST 3eed i eed & fon s ades freera €1 S
iy H fomre & 51 weE | fame % wem | g feu T 3eae agd swEntt 3, @ sTevas e |

fafir= fammaai & wreay § fonell awg =1 wdie 9 get 3ue faver s ¢

(1) A =fa

(2) SUHEI

(3) SIFTES IR

(4) oHeETE
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16




(1) feot
2) <9
(3) R
(4) TR
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

frefafea § wr =iy e o= 1@
(1) v

(2) SR

(3) <=

(4) e
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Frefafea & e fasmor 98 &
(1) Hew

(2) efid

(3) TRt

(4) H=
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19




frefafad ¥ ‘et e’ geek 1 9 o ©

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

FHIRT I T IS
(1) vIaHTA

(2) fom

(3) ffer

(4) FS&A

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_TGTHINDI

Question ID:- 21

Consider the following statements regarding the International Women’s Day-Week celebrated by
the Ministry of Women and Child Development in India in 2022 ?

(a) International Women's Day-Week was celebrated from 8™ March to 14™ March 2022
(b) The week was celebrated as “Iconic Week’

(c) During the week the Ministry launched “Stree Manoraksha Project” in collaboration with
NIMHANS Bengaluru

Select the correct answer from the codes given below :

(1) only (a)

(2) only (a) and (b)
(3) only (b) an (C)
(4) only (a) and (c)




A H 99 2022 H Afgen AR ora fosh e g 70 T SAaieE qieen foa-gwe % Hdy |
Frefafea Fuai ® fo=r Fifs )

(a) At wfgern feag-gwE, 8 7 § 14 9rH, 2022 T HART 7|

(b) % TG  SMEHIH Ak’ F & H T T

(c) TWE F SF HAerd 4 NIMHANS, STTe® & Tgdi § ‘St TIRa a1’ &1 JEeTd &1 |
= feu TTe Fe 9 9@ ST = Ff

(1) 9 (a)

(2) %A (a) 3R (b)
(3) & (b) 3 (o)
(4) I (a) R ()
Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

Which Title/Book has been selected for the Sahitya Akademi Award 2022 in Sindhi language ?
(1) Sindhi Kahaneea Ji Haisyat

(2)  Sindhi Sahit Jo Mukhtasar Itihas

(3) Mohe Sonu
(4)

4) Kavya Chintan Man Jo Manthaf

et o § wifees sterredl QR 2022 % forg forg it/ q&de =1 g ™1 82
(1)  feeft werfan it e

(2) Tee wifge s gETa sfae™

(3) HIEH

(4) e T | i HeA
Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23




Which of the following events in India started from the Gowalia Tank Maidan in Bombay which
was officially renamed as the August Kranti Maidan after that event ?

(1)

The Revolt of 1857

The Quit India Movement
The Khilafat Agitation
The Chittagong Uprising

Trefafed |5 8 &4 i w2 vra § 9 feed arfern & HeM 9 9% g3 of 3R 39 921 & 916 591 T4
stferenTfr &9 | geeisht SR shifd Her T feam Tar 412

(1)
(2)
(3)
4)

1857 & fagre
I SIS SR
Taerra g
Temme smmed

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Who has the power to Summon a joing'sitting,of both houses of the Parliament in India ?

(1)
(2)
(3)
(4)

The President

The Speaker of the Lok sabha

The Leader of the House in Lok Sabha

The Speaker of the Jlok Sabha and the Chairman of the Rajya Sabha Jointly

A ¥ TS a1 Gstl F1 TIa doF gar i ik e 1 72

(1)
(2)
(3)
(4)

ez

TAREY A

AT | G % Al

ARG o 7eAe] S TSIE % [amfd g g% €9

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25




Which of the following economic schemes was launched by the Government of India in 2020 to
meet the challenge of the pandemic ?

(1) Pradhan Mantri Shram Yogi Maan-Dhan Yojna
(2) Deendayal Antyodaya Yojna

(3) Garib Kalyan Rojgor Abhiyaan

(4)

4)  Ayushman Bharat Digital Mission

I |CRR G W =l Feifaal | foes o fae o 2020 H =M i sffefer s i gestd &1 78 off ?
(1) 99 =3l 99 ArT J3E-4A Fre

(2) EFEarE Sl ArsH

(3) TR e TSR SAaH

(4) FFgHA YRd fefSed fiaem

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26
Who among the following had led the movenient.for integration of Sikkim with India ?
(1) Chogyal
(2) Kazi Lhendup Deorji Khangsafpa
(3) Laldenga
(4) Angami Zapu Phizo

Tafaery o vRd 9 Tahiehvl o fau Ticle o1 qe Hetafead § 9 feee faar o1 ?
(1) =raE

(2) RIS AEgT QI G
(3) TS
(4) A STy fRs

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27




What is the northern-most range of Himalayas or the inner Himalayas called ?
(I) Himanchal

(2)  Shivalik
(3) Himadri
(4) Purvanchal

femmera =t gag I v § e aen suan Aiafies o™ #1321 #=d € 2

(1) feHEw
(2) Terenfass
3) fewfz
(4) At
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Who among the following is the Tenzing Norgay National Adventure Award winner of 2021 for
life time Achievement ?

) Bimal Prafulla Ghosh

(2) Group Captain Kunwar Bhawani ‘Singh Samyal
(3) Dinesh Jawahar Lad

(4) Raj Singh

EF 219 sTEEde & fau 2021 F dAfST 961 99Fa ted = fare fefafea | 9 fega s ?
(1) foua upe |m

(2) JU FeA Fax war fog g
3) feter S«
(4) =i fEe

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29




Which of the following is a Brackish water resource ?
(I) Canals

(2) Reservoirs
(3) Rivers
(4) Lagoons

Freferfaa o & @it 9t o1 9EE S w9 g ?

(1) el
(2) STAR™
(3) Afeal
(4) <
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

Which of the following examples most appropfiately represents the “accuracy’” characteristic of
the computer ?

(1) Calculation and generation of saldry slips of thousands of employees of an organization.
(2) Result of division of any two stumbers upto 10 decimal places.

(3) Performing long and complex calculations with the same speed and accuracy from the start
till the end.

(4) At one moment ong/Can use the computer to prepare a letter document and in the next
moment one may play/music or print a document.

Freferfad & 9 = 91 38R wPge 1 URYEd’ (accuracy) i faRiud =1 Haifues wel @i 4 gt
2

)

) ot dve & woIRT sHEEl o A ) T A SR A e Se W |

) 10 SIHANE 6 i fREl a1 Gl 1 qRTh |

3) IRY | fq qF well IR SAfeet Tured Sl gHEt iR ufsa | &

) U &1 H FHEH ] TART Uk 31 a1 B A1 SR gHY &0 ST Fd a1 1ga &h1E Sierghe iz
FHEAT

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,
« 4, Option ID :- 120,




Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_TGTHINDI
Question ID:- 31

The given question is based on the following information :

] $ K means ‘] is the father of K’;

] # K means ‘] is the husband of K’;

] & K means ] is the daughter of K;

] @ K means ‘] is the wife of K'.

If expression ‘L # N %« M @ P $ Q’, is true, then which of the following statement is not correct ?
(1) "M’ is the mother of ‘Q’

(2) ‘P’ is the father of ‘N’

(3) ‘L’ is brother of ‘QY’

(4) ‘N’ is the sister of ‘Q)’

fean man wea Fr=fafed gaan w= snenfa ©

J$ K@ aref &7, K fuan &

J# K& 3 §'], K ufa &

J & K@ &7 €', K&l 3t 8

JOKH A '], K Uit g1

Ffg e L# N M@ P $Q & ¢ 0 fFrfafaa fasedi § § =0 @1 519 22
1) ‘M,'QH gl

2) ‘P, N & fuar g1

(3) ‘L,‘Q + 9E g1

4) ‘N, 'Q I ¥&F )
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32




Three statements showing relationship have been given, which are followed by two conclusions (I)
and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements :

[1] S<K

2] K<M

3] G=M

Conclusions :

() M>S

Iy K<G

(1)  Only conclusion () is true

(2)  Only conclusion (II) is true

(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

Fr= Heiy g9 A i e feu o ¥ foees A @ feed (1) o (1) R e ¥ 1 7w A g T fRe e wem
& T, 78 i wifs fe wm A fred ffem se 8 98 2782

hd :

[1] S<K

[2] K<M

B] G=M

frreent

() M>S

(I) K<G

(1) hee Fred (1) =& @

(2)  hee freRe (1) W &

(3) faerd (1) @i (11) ST md €
(4) <l frepel | | K o 9E 7E §
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

- 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33




G, H,]J, K, L, Mand N are sitting in a circle facing at the center. "M’ sits third to the right of 'K". “J'
sits second to the left of ‘N". ‘L’ is an immediate neighbour of ‘M. ‘G’ sits immediate right of ‘H'".
Only one person sits between ‘G” and ‘K’. Who sits second to the right of ‘L’ ?

1

(2) K
3) G
(4) H

G,H,],K, L, M 3R N T g &I 31efa § S 5 Fl IR 58 % 90 & 1M, ‘K’ & grff oiR dret wm

THSA R 1T, N & 9 S TEL T 9SS € 1L, ‘M T UHSH TS §1°G, ‘HY R ThaH Sl $iR
d9adl 8 1'G’ IR ‘K’ % d1d shael Ush SAfad d8dl & | ‘L % gl 31R 8L ¥ W =i Jodl & ?

1 ]
(2) K
3) G
(4) H
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Three statements are given followed by three conclusions (I), (II) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.

Statements :

[1]  All keys are locks

[2] Some locks are doors
[3] No door is room
Conclusions :

(I)  Some rooms are keys
(II) Some doors are keys
(III) No roomis a key

(1)  Only conclusion (I) follow

(2)  Only conclusion (II) follows

(3) Only conclusion (IT) and (III) follow
(4)  Either conclusion (I) or (III) follows




= i e e e E fomes e o fsmd (1), (1) oiR (1) fow T § 1 et 39 et ) wE A/ § e
F | | 9edl 9 9= 8 =1 9 81 =8 o iS5 S grd feed feu e wmeHi § i w9 9
Frreperan 272 2

heH

[1] = =nfemT et §

[2] FB A A &

[3] TS SLETST FHHA TE &
Foreer

() F HAL =feri &

(1) 3 @S =M &
(1) RIS O TS =Telt T & |

(1) e f=pd (1) e 7
(2) hae =R (1) fehea €
(3) e fsmd (11) s1gan (1) Feperd 21
(4) Frewd (1) SAoan frseedd (1) Freperan 21

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 4, Option ID : -136

Question ID:- 35




Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Mammal, Lizard, Whale

. O QD

.(0)C




feu u foshed] § @ UH 99 IN@ =1 999 Hifaw o1 feu 7u =l & o= Tt e &) g9l 81|
U, fousd, =

, O QD
(2) O

(4)

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Subject : CL_Q36-Q40_TGTHINDI
Question ID:- 36

Which of the following is not valid about an e-mail address ?
(1) e-mail Address should have one @ symbol

(2) e-mail Address can have multiple dot (.) operator
(3) e-mail Address cannot have space in it
(4) e-mail Address can have any number of @ symbol




forelt -9 wew & 9 |  fafar= 78 €2

(1) -9 ey H uh @ o= (fHaa) 3 =fee |

(2) E-9d UgH H HeEivd Sie () SATIel @ UHhd gl
(3) 3-Fer ued § o9 T g T

4) T ueH ¥ e of @ fo= (fgaa) & 9&d 71

Options:-

.1, Option ID :- 141,
- 2, Option ID :- 142,
. 3, Option ID :- 143,

- 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

The following is the combination of keys used to copy a selected text in word processing software.
(1) CTRL+C

(2) ALT+C
(3) CTRL+P
(4) CTRL+Y

9 TR giredm § frdt goifees 2o ot il (copy) F34 * faw FF T Fi-Haem & 9@ fwma
ST ?
(1) CTRL+C

(2) ALT+C

(3) CIRL+P

(4) CTRL+Y
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38

is used to quickly apply the same formatting, such as color, font style and size, or
border style, to multiple pieces of text or graphics.

(1) Format Copy
(2)
(3) Format Painter
(4)

Format Stamp

Format Move




TR A1 M & e B o9 o fau el $ic WEd, 9Es 3K TS ©Ed 9@l §9H BrRAfET &

TehIe] Tells Y o felg HEI oA S ¥
(1) Format Copy

(2) Format Stamp

(3) Format Painter

(4) Format Move
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

are the visual effects which appear in PowerPoint when one slide moves to the next
slide.

(1) Slide Movements
(2) Slide Transitions
(3) Slide Effects
(4) Slide Frames

TleR@TEe H e U TEE & 98 37el TIEs TS ¢ o fear 37 o fasjeret sthaed B
gl

(1) S HaHeH

(2) ¥EE gAfserd

(3) WS TheH

(4) =SS HE

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

MS-Office does not contain the following as its part :
(1) MS Word
(2) MS PowerPoint
(3) MS Paint
(4) MS Excel




AU HAfRE H, Fefafed s9% T 97 % &9 § wfde 78 2 82

(1) THIE g2

(2) THUY GlelEEe

(3) THTH U=

(4) UHTH THIE
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

- 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : UL_Q41-Q50_TGTHINDI
Question ID:- 41

In Kohlberg theory of moral development, the influence of parents on child is assumed in :
(1) conventional stage

(2) post-conventional stage
(3) pre-conventional stage
(4) concrete operational stage

Ifaer fawm & Fraert fagr § 9o | fidEsmi & g F fHg srawn § 7 o 2
TIORAT STEeqT §

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

- 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

In homeschooling, which one of the following dimension of the child’s personality may be less

developed ?

(1) cognitive growth
(2) emotional development
(3) wvalues
(4)

4 socialization




R WX TGS A H(BW THfA) a1 % safae & Hi-d Tee] 1 FH o B ¢ 2
(1) HaHTES i

(2) Homeass faswmE

(3) WA

(4) HHESRLT
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

- 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

Keeping in view the cognitive development of adolescents, the classroom discussions and activities
should preferably focus on

(1) intuitive thoughts.

(2) symbolic thoughts.

(3) trial and error mechanism.
(

4) deductive reasoning.

ToReTl = Hareae: faerr =l o9 H vad g0 S a=iet 3 st 4 sifermrmm: fore o eam foan s
ey ?
(1) r=en faed W

(2) et fa=T T

(3) T AR I FA R

(4) ToTEATEHF % W
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

A teacher finds that the adolescents students of his class learn by observation. This is known as

(1) experimental learning.
(2) associative learning.
(3) vicarious learning.

(4) insight learning.




Ueh STEATYE I8 11 & T SEH! H& & Th9iR O sTaciis & R HiEd © | 389 991 Fed © 7
(1) STIYErHE Al

(2) HEER AT

(3) wfdffergersh 3tfermH

(4) ST<IEie ATy

Options:-

.1, Option ID :- 173,

. 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

A teacher taught the concept of photosynthesis to the students. The teacher wants to ensure that
complete learning on the part of the students has taken place and it can be verified if the students
are able to :

(1) define the process of photosynthesis.
(2)

(3) describe the social implication of photosynthesis that is'the need of plantation.

(4) differenciate between autotrophic (photosynthesis) and heterotrophic mode of nutrition.

explain the process of photosynthesis diagrammatically.

T HASATYE BT I YT HIATV I Hehege] %l T & | T 78 gifvad e =eal ¢ fo sl 3 qof
sferm yr foran ¥ oIk 39 Wenred fEAS O ® At 9T ¥ S U

(1)  TehRIe-H9ewor <l Wl = g =y o |

(2) THI-HISU T FiHA A F5 ) Gerddr 9 gHen urd |

(3) WeRII-Heer % i ffeared &1 av o I S SEH 1 STavEehdl § |

(4) OOV % USRI (THRTO-HI) SR SSrEiteR aiieh o did STaY s 9 |

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

In the context of human development, which one of the following begins during gestation and
continues throughout childhood ?

(1) Motor development

(2) Reflex action
(3) Cognitive development
(4) Sensory development




e fammg & ded |, Frefafean 5 4 w0 nafafy 3 9E 2o g0 acgse 99 S w1 @ 2

(1) wifde fam

(2) wfdadl foran

(3) HIAATHS o™

(4) Hoal fasg
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47

Among humans, the process of emotional development is :

(I) linear
(2) cyclical
(3) rectilinear
(4) parabolic
arEl | wiafrer faswm 1 gfswmn 2t €
(1) &=
(2) =
(3) T @X
(4) WREAfIE
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

Among human beings, which one of the following is a necter ending in nature ?
(I) Maturation

(2) Puberty
(3) Growth
(4) Development




el § fefafea § #F- w8 7 garg 27 9l g6 &= 82

(1) gfgeEer
(2) FFAFY (gee)
3 dfs
4) fawm
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192

Question ID:- 49

Conceptually, the terms growth and development are :

(I) same.
(2) different.
(3) opposite.
(4) synonym.
Yol &t gfte 4 gfg @ik fasmg e -
(1) UHHAFZI
2) =g
(3) fawdd g1
(4) TAFE
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

‘Sequentiality” means development is
1) linear.

2
3
4

progressive.

— e — —

)
) orderly.
)

coherent.




SR TR o a1 § o foem 2§

(1) Y=
(2) AR
(3) oHAsfed
(4) HEW
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

- 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Subject : UTL_Q51-Q65_TGTHINDI
Question ID:- 51

Which is not a pillar of learning ?
(1) Learning to know

(2) Learning to do
(3) Learning to solve problems
(4) Learning to live together

Frefafead § 3 # Sfm &1 tF T =@ 872
(1) A4 & fag st

(2) = % fog sfm
(3) HHEA Wl YA o ferg ey
(4) 9w & fog iy

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

Which one is not a role of teacher in facilitating meaning making learning ?

(1) Creating an environment in which children would feel free to express their views
(2)

(3) Recording of each student’s perceptions on the issue for the benefit of all students
(4)

Having intimate knowledge of student’s, interests, attitudes and personality characteristics

Being unmindful of previous experience of each student in relation to the activity




us 19 fmto Aferm 1 g sH | s sl fae Frefafe § 9 wE-g T8 82
(1) e TH FaE 4 f5/EH A Wad ©9 9 37 99 o9 3 9%

2) Toenfefai =1 wf, sifvgfti sin safaae 1 favwansti &1 stiaftes 9=

(3) |l Tornfefai o e = fow forslt ggg R yeash fomnedl & wexg 9 &1 et e
(4) T & Hay H yods faenedl & g4 sya il Tdre 7w

Options:-

.1, Option ID :- 205,
- 2, Option ID :- 206,
. 3, Option ID :- 207,

- 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

certain abilities, skills and attitude ?
(1) Project Method

(2) Discovery Method

(3) Problem Solving Method

(4) Play way Method

B 8?2

(1) ufEsE fafy

(2) TR fafy

(3) HgE gHEE fafy

(4) @ (=d) fafy
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Which of the methods involves reflective thinking, reasoning and results from the achievement of

-4 fafy § wfaug drame, Sl 3R sfbgfaesiaia § faasies fawm, Thafd R giom mie

Question ID:- 54

Observational learning may not be promoted by :

(1) Providing reward

(2) Discussing outcomes of such learning with the students
(3) Avoiding rehearsals
(4)

4 Encouraging students for self assessment




SRS S o1 fheeh g dgraEl 78l fean S wehar &2

(1) YRR YeH Flh

(2) Termnfeldi < wne TH siferm & 9diomm W o=El FE
(3) AW FH H a9h

(4) Taenff=i =1 T=-se gg WieaTed $ih

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

- 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55

Which one of the following approaches is not be commonly used for developing the Curriculum ?
(1) Teacher centred

(2) Subject centred

(3) Child centred

(4) Life centred

= & o | fefafad § 9 fae surm =1 GirEdd yan 9@ e s g2

(1) =TS hied
(2) Taw= wf=a
(3) & *Hf=d

(4) Sfia wf=a
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56

Which of the following statements is incorrect ?
(1) Competency is a learning objective

(2) Competencies can be evaluated
(3) Activities are key to achieving competencies
(4) There is no role of remedial teaching in competency based approach.




Freafafed § 9 #F-1 wyw T2 78 &2

(1) Tedl T A 329 at §

(2) T w1 geAisA fwen S wehaT 7

(3) & YTW A ag foRamd e Feeyg ©

(4) <&r S ST H USRI et wi e ofe 78 21

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which one of the following statements is true ?
(1) Children are Capable of learning two or more languages at a time

(2) Home language of students can seriously interfere with their, fommal learning and therefore
should not be made medium of instruction.

(3) Implementing three language formula may create more,complex difficulties in the system.
(4) Multilingualism can not be used as a resource in India.

Frefafaa § F FF-a1 FoF qF © 2

(1) =Tk Tk 99 W& 1 3 e SR e 2 |

(2) BE F TE WO Ih sATwG S § TifiargeE swar = wwd & i 3afae 39 faa #=
AT TE S S AMed )

(3) Ta-urdt g3 ot o] L ol H sifeerand Y 8 wehd € |

(4) FTE-IETETE S R s HEeA & B9 H AT @ fwa st anfe )

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
. 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which one of the following is not a strength of experiential learning ?
(1) Stimulating learning

(2) Real learning environment
(3) Rigidity
(4)

4) Learner Centred approach




Frfafaa § 9 o svaes AW & T J9e 98 T § 2

(1) 9%k e

(2) ardfas Al FrE

(3) wHSWal

(4) sfrHeRl Shfgd URTH
Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Quantitative data can be best analyzed using :
(1) Assignments

(2) Questionnaires
(3) Projects
(4) Portfolios

Tores WM e WS SI81 & garay faverr st g g 2

(1) &« %[ (TEETHe)
(2) wATAfeTAl
(3) HfeEsETg
(4) dRwIferEl
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

Which one of the following is not a characteristic of a good tool of evaluation ?
(1) Reliability

(2) Incomprehensilibity
(3) Validity

(4) Objectivity




Trefafaa 5 9 0 qedis & T 7% I i fameedn 781 8 ?

(1)  Torgerraa
(2)  SETETEE
(3) S

(4) FEFTSS

Options:-

.1, Option ID :- 237,
- 2, Option ID :- 238,
. 3, Option ID :- 239,

- 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

What is the main objective of ‘assessment of learning” ?
Assessment of :

(1)  Objectives of learning

(2) Learning gaps
(3) Process of learning
(4) Product of learning

‘ saferTe T STERGE W T SEYE I § 2

F HATHA

(1) sIfer & 3wl

(2) sAfer H

(3) ferTe =1 ufsra

(4) SAFTH % IR
Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

- 4, Option ID :- 244,
Answer Given:- 4, Option ID : -244

Question ID:- 62

Which is not a principle of “assessment for learning” ?
(1) Provision of effective feedback to students

(2)

(3) Provision for Peer Assessment
(4)

Principle of self assessment

Principle of focussing on final examination results




Frefafaa § § =0 siftrm % fog sterer ' =51 o fagia & €2
(1) foenfefdi 1 gurEt wigs® w1 gaum

(2) TE-3AreH 1 Tagia

(3) WEURT AR H YEHH

(4) oifaw wdan g X o9 34 % fagia

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

- 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

For teaching geometrical theorem to class VIII students, which one of the following methods would
be most desirable ?

(1) Project Method

(2) Analytic-Synthetic method
(3) Deductive method
(4)

4 Lecture-cum Demonstration method

FHe1- 313 & DEI ol AT THI 9gH & foru Trafafed 8 & sH- fafu gaifus st arft ?
(1) ufEsm fafy

(2) Toveram-gyewo fafy

3) e fafy

(4) =AFEAF-TE-geeH fafy

Options:-

.1, Option ID :- 249,

. 2, Option ID :- 250,

« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

A teacher asks students to write summary of a given story. Which educational objective she/he is
testing ?

(1) Knowledge

(2) Comprehension
(3) Synthesis

(4) Analysis




U ST BE § UF & T FHer & 9 e % o s ¥ 9 fre dfhe st e vham s wE ?

(1) M

(2) @™

(3) HTrUm

(4) fawetsm
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

- 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

The best way to handle a wrong response of a student in the class would be :

(1) to explain the subject matter once again

(2) to tell the student the answer is wrong
(3) to ask another student to give the correct answer
(4) to explain and give another chance to answer

w1 § ot 919 % Tord I 4 Fuey o geie gl w=rerm ?
(1) oo™ % 9 H T 9’ g7: e

(2) BT I TG A TR T I ©

(3) THY OB Y HEl I A & ferg g

(4) I HA SR IH IW <7 A1 T SN TG S

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_TGTHINDI

Question ID:- 66

In the context of diversity, which one of the following is an example of intra-group differentiation ?

(1) Teaching and non-teaching staff of a school

(2) PGTs of humanities, commerce and science streams
(3) Principals and school teachers

(4) PGTs, TGTs and primary teachers.




fafagdr & He4 d, frafafad § & =i 9 id-gge fascisio % 35Ew 8 ?

(1) former & foare v R-fose =6

(2) TEfa=T, AT iR faam faw & 0 st 3
(3) wuFEE R faEeE F few

(4) S 2, 2 S A SR mafie e
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

According to the persons with Disabilities Act, 1995 “Person with Disability” means the person is
suffering from not less than :

(1) 30% of any disability.

(2) 40% of any disability.

(3) 33% of any disability.

(4) 45% of any disability.

v =afaa Ifufag, 1995 % sEr ‘.o 2afaa) 1 19 2 iR At S Frefafad 9 o8 e
@rﬁ"r%fﬂﬂﬁf:

(1) Tt foomEan & 30 wfaera

(2) el v & 40 wfaog

(3) Tedl v o 33 ghmgrd

(4) sl .o & 45 Ao
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

- 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

The correct sequence of the stages of directive counselling is :
(1) Diagnosis, analysis, synthesis, counselling, prognosis, follow-up.

(2) Diagnosis, synthesis, analysis, counselling, prognosis, fo]]ow—up.
(3) Prognosis, analysis, diagnosis, synthesis, counselling, follow-up.
(4) Analysis, synthesis, diagnosis, prognosis, counselling follow-up.




Fréamerer et w1 sreensil w5 HE A @

(1) Tem, favermo, Sy, e, qaiEm, sted
(2) THeM, Hyeryw, faveryw, wWrael, gaiqa, swadd
(3) vaigam, fageraor, figm, Heeraw, WM, stadq
(4) Tagersol, Hyeryw, FEM, JaiaM, WY, ST

Options:-

.1, Option ID :- 269,
- 2, Option ID :- 270,
. 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

Which one of the following cases shows that the student is mentally healthy ?

(1) A student who has failed in an examination, feels sad for 2-3 days and again starts preparation
for it.

(2) A student who has failed in an examination, does not care and keeps enjoying life as before.

(3) A student who has failed in an examination, feels sad.for weeks and parents console him to
again prepare for the examination.

(4) A student who has failed in an examination, feels guilty and decides to take a leave from
school and stay at home for few days.

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

- 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70




For develop
appropriate

ing writing skills among class VII students, which one of the following will be the most
activity ?

(1)  Asking the students to describe the ‘Power of President’

2

4

(2) Asking the students to describe "My experience of class VII'
(3) Asking the students to write an essay on ‘Independence Day”
(4) Asking the students to describe the title ‘My one Day at Moon’

FE-VIL % BT § TR Hivre faesfaa w3 % fau, fFefafea § 9 watfus o fmm 0 9@t 82
1) fornfef=i =01 ‘oeeafa =t o’ =61 avE @ & fae e

2

4

Options:-

(

(2) fomnfefai =1 ‘wan-VII & W 9’ o G0 F o fag e

(3) fernfefai =1 ‘waduan feaw’ W ws ey forgH & fere we

(4) TemnfelRl =1 ‘=ga W AU U faA’ it 1 9o R & o wea

.1, Option ID :- 277,

« 2, Option ID
. 3, Option ID :-
- 4, Option ID :-

:- 278,

279,
280,

Answer Given:- 2, Option ID : -278

Question ID:- 71

Which one of the following topics cannot be taught, to the school students, through ‘community as

a leaming T

esource’ ?

(1) Concept of floral diversity

2

4

(2) Concept of fermentation
(3) Concept of electron beam
(4) Concept of friction

‘T A W1eE % w9 H TS’ % W ¥ Whell ST %l i H YiYE TE el S Tehdl § 2

(1) Yo-zeqfa fafawar i dereu
(2) Tervad =t Heheo
(3) FAFM Y1 I HehodHl
(4) EHU T Heheyl
Options:-

.1, Option ID :- 281,

« 2, Option ID :-
. 3, Option ID
« 4, Option ID :-

282,

:- 283,

284,

Answer Given:- 2, Option ID : -282

Question ID:- 72




Which one of the following may not be a function of a coach ?

(1) Training
(2) Teaching
(3) Monitoring
(4) Advocating

= O 9 &[ 91 U, U FIF F HE T8 8 el 2

(1) yforem

(2) oo

(3) e

(4) WE HE
Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73

Which one of the following options may not be'a characteristic of educational instruction ?
(1) Instructions are about dos and don’ts,

(2) Instructions involve detailed infermation.

(3) Imstructions are warnings.
(4)

4 Instructions help in making. a task achievable.

Sifarer faw o1 109 6 | % 9] T A& e 81 ol € 2
1) FEuFIFmeEsdiie T e FaR G T 2|

(2) e | fowga g== < wiva 2

(3) TIdw =t A 7

(4) 9591 U Fd H F SEH F e B
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74




While setting goals in teaching learning, the teacher can overlook the fact that :
(1) Set goals are achievable

(2) Set goals are understandable by each student
(3) Set goals are finally and fully achieved by one and all
(4) Set goals are set in easy language

foreror safermm o 329w @@ & © ot frg qe @ oEE! #R O § 2
(1) @ @& 9 e s g 1

(2) @ @ Heft DGR el Wit wee 4w E

(3) @ @eA sidd: Wl g YA A% U e few S ¥

(4) T AT STEE 991 H 2 €

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

Which one of the following may not be a charaéteristic of school teacher as a team builder ?
(I) Motivator

(2) Coordinator
(3) Democratic controller
(4) Aim setter

T 29 I 97 219 & 9 1, 9 5 ¥ 9 91 v w1 T8 2 g ?

(1) 33U

(2) HHEIH

) EICIEENEEEED

(4) %I qFRAl
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76




The tasks of school leadership is not to :
(I) Stimulate learners to win a sports trophy

(2) Pass judgemental remarks

(3) Seek a balance between curricular and co-curricular activities
(4) Aspire for good school results

el Hgcd &1 i 1 FF T8l § 2

(1) At Haistl =1 @el 2l Siad &g 9

(2) TAofTeHes feuquit e

(3) UIST=AME U WISk el fdfafed § Hqer

(4) T= Thol YROMHI Sl STRIET LAl
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

Who among the following may prove to be least' helpful in developing a vision for a rural school ?
(1) Village pradhan

2)
(3) An educational tour operator
(4) State health officer

Town and country planner

T T The v g A g 1§ | %0 Wt 99d FH 9eEE 8 Tl ©§ 2

(1) 9 94=
(2) %N ug U s
(3) W ek YA SR
(4) T @A AYER
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

- 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78




Which one of the following may not be a aim of education for a T.G.T. ?

(1)
(2)
(3)
(4)

Remember by heart the part of Indian constitution education
Training in following traffic rules

To help in making civilized citizens

Training students for thinking and reasoning

U A5, B 1§ A e e R 76 @ g €2

(1)
(2)
(3)
(4)

Hfayr § foen aret feed &t weit 9ifd =g &
I o i 1 uer w3 5 aiie g
[ ANk o H FEEdr &l

BT 1 WA 3R qF F 1 JIeeror 2

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

By talking of holistic development, NEP-2020 wants to pay attention on :

(1)
(2)
(3)
(4)

Filling up the holes in our education systeni

Equality of opportunities in edugation

Giving due importance to all-€ognitive, conative and affective domains
Designing same course threughout India

NEP-2020 3 Hyufaret foan swharat § ffe @ =IF <7 &l F71 8 2

(1)
(2)
(3)
(4)

Toer =qazen § fodi &1 W1 W

ot # s1a9d ot THEG W

T vel-FrrTE, fraes 3R WEATE W Sufad 5 3 W
UL YRA & AU 99F ueTEs 99

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80




Which document talked of computer learning in education for the first time after independence ?
(1) Radhakrishnan Commission

(2) Mudaliar Commission
(3) Kothari Commission
(4) NEP-1986

LA o TeET o e A Hod U8l FFHE HiEH i A &l @ ?

(1) THFDE SR
(2) eI ST
(3) IS AT
(4) NEP-1986
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : Hindi_Q81-Q180_TGTHINDI

Question ID:- 81

‘AR freie 3 STUR W FaEy T Frefafe A 3 o wee wE T ©
(1) 3d Hen o7 <u § fordi % wMidi &t 8

(2) ol S %t geEd & M $

(3) i % el % o YR T &

(4) IS w1 facfrn sga ufHe @

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

(1) =
(2) @reRITa
(3) T
(4) fAei"

Options:-




.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

- 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

‘TR gEIE &' Tl % AR W FaRy R el - el ay qOeEt G o ?

(1) hae gedie g qifori s
(2) OFE Ol W o fade
(3) AAfdEF STEd aelt

(4) 39 HE eH T o
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

‘feehe-sTera " TRl go: o @ Fi 8 7

(1)  Foroo HamERT
(2) T ATl
(3) Y el
(4) gHfd s
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

TE-TR % =P E

Options:-
.1, Option ID :- 337,
« 2, Option ID :- 338,




. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

‘oz fafem st wfaq % 9§ HE-w FuF 78 6 8 2
(1) =fa & wE | el dei arel Bt fafea 1
(2) = fafem gdrd 21

(3) fafem /= & 9gd =R &t 21

(4) 8 wE R favars 7E 7

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

- 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

‘erl T W T & YR W faefatea § @ wE wme 96 E

(1) i d o1 a% HUsSi T 29 gH1 2 |

(2) HaH Ygel safe A 9|, iarEl SR AR pERa |
(3) e HaHdi 9 veet wrE Hend s | g

(4) 1Rl =) WIS O ki gl 98 WS E

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

(1)  TOmR gt

(2) YHER

(3) sEd foroy] Areifent

(4) Geu uHErH
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,
- 4, Option ID :- 352,




Answer Given:- 1, Option ID : -349

Question ID:- 89

Options:-

.1, Option ID :- 353,
- 2, Option ID :- 354,
. 3, Option ID :- 355,

- 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90

‘“UR TSR %' Ferl § B2 T 9iER Fel w91 ?
(1) #eFERH

(2) ST o e et Het J
(3) WL A Sl H
(4) w=H

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

‘e € I W,

39 e TS A9 & S’
=1 Ul frg @ A §2
(1) = fafemsi

(2) Hef T S

(3) =g d-dr T
@) el B A

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,
. 4, Option ID :- 364,




Answer Given:- 3, Option ID : -363

Question ID:- 92

frrefafea o Foom dreet 1 =
(1) ==9d

(2) el = HE

(3) YRS %

(4) HER TEH

Options:-

.1, Option ID :- 365,
- 2, Option ID :- 366,
. 3, Option ID :- 367,

- 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

‘T 97 B YR TR A i wm R ?
(1) ek

(2) fAa

(3) e

(4) THIR

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94

‘W’WW:WW@%:
(1) HeFITAaH

(2) =g

() sfem

(4) I

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

- 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95




S FR 1 W91 Tafem =t a=h ' frg famn 6 @ 2

(1) =aFr
(2) Ty
(3) 39
(4) HEO
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

“! STTRTST ST TTHT STTF
TS 1 e @i,

HE WU & AL =R-Hi
e iR o o @ 82

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

‘SetEiag, e ot g’ frefafes § 3 feg = 3 geEfm €2

(1) 379 =1 SATAIfE =19
(2) @R F fEE

(3) W@l

(4) wH-UH fREH

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,




. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

(1) hfem
(2) B
(3) HE
(4) Ta
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Fwaydett fome faem =t = &2
(1) hfam

(2) e

(3) M

(4) HE
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

- 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

‘et =i afedl’ % YR W FdET fo TR Heieieh J Afeal i & el B 2

(1) dfedr

(2) @A

(3) @M

(4) wfEar
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397




Question ID:- 101

‘T AT FEE AT §

(1)  wTerl JEe T
(2) S FHR
(3) TeremEe fHe
(4) 2. 9EETA
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102
el - el o S |
9t TIfd e W Yo' - 1A faaar feg wiaa | &t 7 §2

(1) fawE-mea

(2) 9 YSI TR TH &

(3) == fafeasi

(4) <A R T
Options:-

.1, Option ID :- 405,
- 2, Option ID :- 406,
. 3, Option ID :- 407,

- 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

‘o1 O § ¥ BT get W, A9 TF Tl & 9% waf |, e uiear e wiaa G ot g2

(1) fawera - A
(2) =&

(3) Hagaet

(4) SEmi hT T
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104




“Uaa q ferafer gamm e, s foe @ sga 9t fon | sreg dfeei | =fa o1 aerd &
=g él we e

ek =t =€l S@te =nfe

faTeh oh1 gt <X 9% 1 Godl @l

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

"R far s wfEdl, s @t A Tt
siife T & et o e TEwE G fRdi
U sred ufeadl o Wega € -

(1) @z

e

THEH

(2)
(3)
(4)

4
Options:-
.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

it =t forer = seg frefafea 4 9 frag = | faean €2
IYYEHRITETE i GEHd
TET & 3R

Options:-
.1, Option ID :- 421,

. 2, Option ID :-

. 3, Option ID

. 4, Option ID
Answer Given

422,
- 423,

- 424,
:- 2, Option ID : -422

Question ID:-

107




ST H H HIETE o AH H WA Hiadl  9R oK s’ § 73ed & w@an w A4Y €

(1)
(2)
(3)
(4)

Options:-

.1, Option ID :-
« 2, Option ID :-
- 427,

« 4, Option ID :-
Answer Given:-

. 3, Option ID

it =1 = ATt

el =it el A 9
AT &1 e F 9
Tt =t =W faar ar

425,
426,

428,
2, Option ID : -426

Question ID:- 108

Frefafad & 9§ 29 9@ = sifer giF =1 foat == 72

(1)
(2
(3
(4

Options:-

.1, Option ID :-
:- 430,
. 3, Option ID :-

. 4, Option ID :-
Answer Given:-

. 2, Option ID

Ere St 1 TSR

) 3T 1 =80

) TR TE

) @ el & anfEdl HaEe

429,

431,

432,
2, Option ID : -430

Question ID:- 109

‘It e & SR W IaRT R g Y 3 @ 9w ue @ ot ?

(1) i

(2) e

(3) frsfE

(4) SEERRE
Options:-

.1, Option ID :- 433,

. 2, Option ID

. 4, Option ID

Answer Given:-

:- 434,
. 3, Option ID :-
:- 436,

435,

3, Option ID : -435

Question ID:- 110




A 9 IR argeRl 9F fefafead § 9 feg = | gefid = g2

(1) ==

(2) Hiaws

(3) oI P
(4) HIIEl T
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

"ga S AT § T, ST e Feed | Ui & STeR W 90 i S IEE e § 2

(1) =Hear Hie

(2) AT dA

(3) el A

(4) el FRS
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘griEt FT T efaa § fahg el g -gue el e SR A Ui O WeTd ¥ el T E
(1) T9H SgFR D@ q

(2) SIS = I T o

(3) IS %l T T o

(4) SeTRIS L US A1

Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

- 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113




(1) UwaTes - TEH

(2) Yo =Rd - =AFS

(3) W faemy - feamfo

(4) e ofeam - AfaH
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

‘21 Ut TE TH & Hiad & =i ©
(1) ETSA

(2) et oz gae

(3) e yEE 5

(4) YA ST R

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

& erfeRT e A

(1) =eHl
(2) THay
(3) hfam
(4 =
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

- 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116




(1) TH=EE g

(2) B9 yErE fadt

(3) owfae FR e

(4) S STEETH!
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

“ o1 STqT S TR @ 2
HETE & Tk a1 |

T = 99 g iR =
Y S Sy arg JeA |

(1) eaf

(2) i =i e

(3) WTEH % SMfey

(4) I FoH e Tvg &l
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

- 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

‘g9 &1 T’ A = | Ry veT o 3ee Rl § 2

(1) =
(2)
(3) |
(4) SEAR
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,




. 4, Option ID

- 472,

Answer Given:- 2, Option ID : -470

Question ID:-

119

“qer-e  dgTerd rerE Wi o 1,

3T Tasiie 1 o7/ 989 dig sm H |’
Tga dfeadl & =i €

(1) TR werE

(2) I G

(3) Hdeid Frwet e

(4) TSR =0T Hi

Options:-

.1, Option ID :- 473,

« 2, Option ID

. 3, Option ID :-

. 4, Option ID
Answer Given

- 474,
475,

:- 476,
:- 3, Option ID : -475

Question ID:- 120
Freafafea # wfam iR ge o # gfo § o g
(1) AR H wfEg - @l el & e
2) WHFE - e
(3) e = -
(4) =& - Wfaen i A Heg
Options:-
.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,
- 4, Option ID :- 480,

Answer Given:-

2, Option ID : -478

Question ID:-

121

"eqfq wfadr & EAER E

1

=

Options:-

.1, Option ID :
. 2, Option ID
. 3, Option ID

(1) Fepia ot fFuen
(2) TSR =0T I
(3) UHeHH fag

(4) THET TEE feTeht

- 481,
:- 482,
:- 483,




. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

" STeRElt AR AR T

(1) SFguiHe 3=
(2) ey faard
(3) WY AR
(4) HeF

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

- 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123

(1) e

(2) T

(3) AETFAM

(4) e
Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 2, Option ID : -490

Question ID:- 124

< | Ul Hark (diedt) ey of -
(1) SeEs

(2) HISTSH
(3) HHT
(4 Yo

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

- 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493




Question ID:- 125

R I 33 el g, UE ol o for R s § i, 92, 7o gu awd, Srafed, @i, #eR o o= g1
e feraon for et 9 82

(1) BT

(2) HEER

(3) 2

(4) @ e
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

- 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

‘18 Hed wfed aua 721 ® form faw = w22

(1) =eHl
(2) @hfad
(3) faw
(4) T@if==
Options:-

.1, Option ID :- 501,
- 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

gt R el § T o fa R
(1) feEy

(2) R

(3) Hfaa

(4) e
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128




‘21 Il I w1’ FEE < SMER W FdRY R HiSEE H @ HrRier 9y Hi Bl o A a9 36h Y
o1 917

(1) e
(2) et
(3) @TereA
(4) T
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

‘ot Rt feen’ ehfadn & AT
(1) <eepid gaar

(2) TS Sien

(3) hery fHe

(4) PRR FEgY e

Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130

"y i Y SRl el § e U 9, g S-Sl dH FH W R E 1

q&d et o i
(1) AT

(2) I St

(3) SRS o
(4) Yt

Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131




frefafed § 9§ A JIgadt & @ 1@ S

(1) fem fordlest
(2) wifee Saa
(3) fem wifrt
(4) w@vigfa

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

"Hg T § ARedl o wiad F =
(1) =T

(2) ToerEs

(3) yfa

(4) HERATY 3TUETA
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

“aeft off <en B fafe i

ElEE:ATGEED

i 98 32 ol aa’l § §1"' v FreA dfeeer Ry wam | €2
(1) 4% Fad T T e

(2) fafgar

(3) A

(4) WA % SMfRT
Options:-

.1, Option ID :- 529,
- 2, Option ID :- 530,
. 3, Option ID :- 531,

- 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134




‘g =ftd’ wiad o SUR W a5 e i SHeen SEeht i i HHISw g; ?
(1) 3! g g3

(2) 3T o g

(3) @ e & Y

(4) O HE H WHT U

Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 4, Option ID : -536

Question ID:- 135

"B F=T o T freent = g 2

(1) &=rd e fgad
(2) HEIeE aHi

(3) =TelN <&

(4) TR g

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Frefafag § fifen Far meR &t = == § -

(1) = AR Fmio

(2) diten gERfag

(3) ToemEe TmEd

(4) Il €l Rl A
Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

- 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137




Options:-

. 3, Option ID

)

2) TR "'
)
)

.1, Option ID :

AR T HeRAT

- 545,
« 2, Option ID :-

546,

- 547,

« 4, Option ID :-
Answer Given:-

548,
2, Option ID : -546

3

(1
(2
(C

(4

Options:-

. 2, Option ID

.1, Option ID :-

. 4, Option ID :-
Answer Given:-

Question ID:- 138

Freafafea § 4 <9 it @ R R
) ™ faems

) e faemE
) At faed
) e

549,

:- 550,
. 3, Option ID :-

551,

552,
4, Option ID : -552

. 2, Option ID

. 4, Option ID

Question ID:- 139

Jerdier @i ST AT | HeftE E-ar e I8 T R 2
(1) e Toa § gardt e §

(2) Ik W HHEY FAGIET SR AR o Yl ©

(3) UHERGHME 3T WA i ST % a9 9gd Aenidd §
(4) o ot i wE g § 7@ T

Options:-

.1, Option ID :- 553,
:- 554,
. 3, Option ID :-

555,

:- 556,
Answer Given:-

4, Option ID : -556

Question ID:- 140




feafast vmr-2 ® gee™  foram ug fgu €2

(1) =
(2) @+
(3) =R
(4) =
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Question ID:- 141

freafafed § aF-T FA 8 T 8

(1) FAHEHE A THERTIHE & & Sad § &1 |

(2) ordie™ A Hfaarad! i & TSI H

(3) garde™ A faraten St WA Aad 1 =)

(4) qordl =1 sl |y IR Tash Sl YRR % el I, Sk T e # |

2

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142

() RdUS

(2) HITT EEIdA
(3) TR FHR A
(4) HERATY SETe
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

- 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143




Freafafea & e gaue i = 2
(1) Y&IE T At

(2) =R T

(3) BESIIEIR

(4) @fedl 9rE am

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,

2

. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Frefafed 5 9 e v #:i = 68 ¢
(1) Fu=

(2) foram fo=

(3) TA

(4) @4 H foa
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

Frefafaa | wagsr Sl 1 = e
(1)  STEH! ST o SAEHT

(2) ST

(3) el

(4 FEEA

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

- 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146




(1) =T

(2) T TEE

(3) =AY

(4) wfeient TR
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

frefafaa § | T&veR g #l =T
(1) e =

(2) HrE g S

(3) I 4

(4) == H fo

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

T WSl T =1 T Rl e o' @
(1) 3999

(2) Tt

(3) warad

(4) STCHERHT

Options:-

.1, Option ID :- 589,
- 2, Option ID :- 590,
. 3, Option ID :- 591,

- 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149




I e & foriet el 1 wed’ e foan &

(1) 9N sierEs
(2) TR yEe fgadt
(3) N yEg fgad
(4) =9I

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

It g gr1 I ‘e @ H Zared’ €
(1) HEE

(2) arad

(3) AfRI=

(4) TAoy
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

DA Hiadl H Had Teel Hokisg o FAT FH el Hfd @ ¢

(1) 9H=

(2) Hd

(3) Tauen

(4) wEISH FHi
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

- 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152




I At sTfet 1 uo foad 999 defua fr - amen = § -

(1) HF=E
(2) AT
(3) To=
(4) WRRA

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153

“H =red § R g0 vum o1 Sl - e o e ©

(1) Hehard
(2) HvmEd
(3) sz
(4) T
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

frefafad #§ st fora areres £ ;
(1) fafemiswaEts

(2) TSR T
(3) WAt e o T ©
(4) e JEIE 9 W e
Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155




“farsht ST L €' - 979 SR B

(1) IerarEds fwan fagmm &

(2) afeamrETeRs TR fasor =

(3) fcarses fokan femrmn =1

(4) Farge o faemor &
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156

frefafed § gt o ©
(1) @

(2) YHEH

(3) iR

(4) SHEd

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157

Frefafaa # 9rmeg v §
(1) TermeEt

(2) HATfg

(3) TR

(4) BHERR

Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158




(1) g
(2)  @irsrE
(3) T
(4) <
Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

fre=fafaa w=si & safadar=es 931’ v T8l §

(1) 3159
(2) fas=
(3) TUSE
(4) H™

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

Frefafed gl | o5 g 8
(1) S - g

(2) Fad - Ferdl

(3) I — SIS

(4) feod - ger

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,

- 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Question ID:- 161




Frefafaa e wit samgee ufeu ofit 38 Ut e Uy o Heteh ST i

Sa it el 93 i @ e ©A H T8l 8 | T8 U S STU Sart H & T@ T, 9 ¥ H9 6 2 FR0 AR’
o SHek! STel = 10 o1 &ig =Y fea | St H wecia o1 Ush &l alie! ¢ for 39 fafis Wi o o a1 1w fou
foror o fgor @9 =1 a7 I% EH % 5 90 Feare & uEe H Ha SRl Tl o IS a5, 5 an Sl
T X T Rl | ST H fafae @ o g 3R ga @ o e 6 i § S oI e 6w
+ff g 7 T2 | IEq: Sied 1 e 39H © R el ® it @, 2l W gEpdee @, e | gl @ s gm |
SHT B |

T, 98 o ol & Afg

(1) & @5 A

(2) 9

(3) @I = Ul A e

(4) SUFHI T T O SE FL S

Options:-

.1, Option ID :- 641,

« 2, Option ID :- 642,

. 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

froafafaa e @it sregaes ufeu ofit 31 °T SwEnfiE Uy o Hete ST i

Ste w1 el 33 i 9% TS B 1 T8l 8 198 IS S 319 Sart § @ g@ T, 9 H S 86 2 R T8 ©
o TaeRt 512 3 T o o R oot | e deerer &1 U & ae © f 53 fafvm W =+ o 31 v fag
foror § Fqor €M =1 drerd 98 TR TR YR Feae % Uise 1 Ha Sell, YEhi & SIS Ad =i, foh IR Sl
T X T ol | ST 1 fafaagsamt g 3R gaT @ o e 6 i § S o e 5w
off gl 7 721 T5ge: Siae Frefe 399 € fF e § i @, 2 W e @, e g T A i g o
SHT A

e I Shell F1 32 T e s S J T & foe o7&l ¢

(1)  wnfa | sfitee s =ifee

(2) oI HEAT K MY

(3) 9 off B Sied B W q

(4) FedEE TE @ =Ry

Options:-

.1, Option ID :- 645,

« 2, Option ID :- 646,

. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163




Frefafaa e wit samgee ufeu ofit 38 Ut e Uy o Heteh ST i

Sa it el 93 i @ e ©A H T8l 8 | T8 U S STU Sart H & T@ T, 9 ¥ H9 6 2 FR0 AR’
o SHek! STel = 10 o1 &ig =Y fea | St H wecia o1 Ush &l alie! ¢ for 39 fafis Wi o o a1 1w fou
foror o fgor @9 =1 a7 I% EH % 5 90 Feare & uEe H Ha SRl Tl o IS a5, 5 an Sl
T X T Rl | ST H fafae @ o g 3R ga @ o e 6 i § S oI e 6w
off gt 1 92 | I%gE: SiaA i e 3Ed § R e H gt ), Sl W gepee 7, el 8 39 @ iR ww o
SHT B

w9 T sitee | fafay W@ § fm wm

(1) Sited H qore %9 g

(2) SitEd ¥ wifa e

(3) Sirad AEeTRI

(4)  Sffe sgd = | 2

Options:-

.1, Option ID :- 649,

« 2, Option ID :- 650,

. 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 3, Option ID : -651

Question ID:- 164

froafafaa e @it sregaes ufeu ofit 31 °T SwEnfiE Uy o Hete ST i

Sta w1 Tl 33 it 9% TS T 1 T8l 8 198 IS Sl 319 Sart § & g@ T, 9 § S 8 2 R A8 §
Toh gEeRT TSl 7 T <1 sig o fo | S oTecTer o1 U & adienl ¢ foh 38 fafvm w6 =1 o 1wk for
foro B g 9 =01 e T TR fHEH $eaTe % TS H o e, Y& o IS o o, o an Sl
T X T ol | ST 1 fafaagsamt g 3R gaT @ o e 6 i § S o e 5w
off 31 7 72| Ig: Siaw Srefe 3 § R e § w2, 20l W e @, e H T A iR wew o
IHT A |

e =i g § serdima o) fren =t g @ 5= & fog a2 w5 =fey 2

(1) Hag Yga =er 9ifee

(2) O e =y

(3) Sited | fafay @ o =i

(4) TEH! BT MR

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165




Frefafaa e wit samgee ufeu ofit 38 Ut e Uy o Heteh ST i

Sa it el 93 i @ e ©A H T8l 8 | T8 U S STU Sart H & T@ T, 9 ¥ H9 6 2 FR0 AR’
o 3Tk WSl A 10 o1 5ig w3 fea | S § weaiem o1 Uk & ade  for 8 fafis w6 oF € 1w fa
foror o fgor @9 =1 a7 I% EH % 5 90 Feare & uEe H Ha SRl Tl o IS a5, 5 an Sl
Tt 0 T ol | Sie H s W o e iR gaT W A o e i gie | e o e #uw
ot il 7 U2 | wEqa: Sia #1 S T B R e W it 9, S W gepee 9, oifEl § 96 @ ofR wew o
SHT B |

Tt § W, Ee T YEgEe S g W sH d At

(1) Sfted | &< &9 2

(2) @ feed e

(3) Sita =1 3THg fgerm

(4) wEI H 7T @M
Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
« 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166

7] T 1 SR ¥
(1) aswa

(2) HEHEg

(3) foren

(4) =AFTH
Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167

() &
(2) 3T
(3) HYHEE
(4) TIRH

Options:-




.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

- 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168

TET F STUR W AT I ¥
(1) Fe==arEs - 38

(2) sAfwTaTF - FE

(3) HYTEES - A

(4) fstET=s -

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

‘et faramer it SR TgH TS B AT W YEifd S weey B

(1) e ggay

(2) HI UEEY

(3) Torrom qeEy

(4) Torafemor UeEYy
Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Options:-
.1, Option ID :- 677,
« 2, Option ID :- 678,




. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 3, Option ID : -679

Question ID:- 171

Freafefed H el e &
(1) R

(2) U™

(3) AR

(4) eEH

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

- 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

Forerfeafa faemredl Tes-ei & s ¥ .
(1) =R -9

(2) &Y - faue

(3 wE-3fs

(4) HHH - AYHH

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

(1) o — g

(2) Sy - faeq@

(3) hIfFd - HEA

(4) &N - @R
Options:-

.1, Option ID :- 689,
- 2, Option ID :- 690,
. 3, Option ID :- 691,
- 4, Option ID :- 692,




Answer Given:- 2, Option ID : -690

Question ID:- 174

Frefafa § wr 9t amen o= 7= © -
(1) fro

(2) TUFEH

(3) HaH

(4§

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

- 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

TeiT o STYR T 37T 9 - P ©

(1) <ifex - fesh

(2) AR — AT

(3) &M - gt

(4) TEO - el
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176

31 H faem gisg) | 15T T
(1) e - e

(2) T - T

(3) =HF — FHehIel

(4) R - "

Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

- 4, Option ID :- 704,
Answer Given:- 2, Option ID : -702

Question ID:- 177




o A1 S, TR G S AR g S

(1) = = SR W@HR T HEl

(2) SR SR W W ot FTe

(3)  erauEfl gt off 3o Uel ST

(4) T U HEAT AR T BT SH HAA
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 3, Option ID : -707

Question ID:- 178

Freferfaa H st e 78 @
(1) fHa

(2) =

(3) fafa

(4) =S
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

frefafad f s wm Fi gfe G emm gm @ -
(1) Hed -, @, 7

(2) 7= -9,9,
(3) 3" - 9, |
(4 TI-9,7%¢7

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

- 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180




Feferfad o s/ ¢ -
(1) @8d " dier aren — fHaes

Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717

(2) STl UgH A S Heh - 37T
(3) fTorgert sumn 7 € W - U
(4) forgert 9ol 7 foran s w9k - auiEma
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